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QUESTION 1

At the system management and search console level, which three actions can be performed by the administrator role?
(Choose three.)

A. View tenant list.

B. Modify tenants.

C. Remove a node from the HCP system.
D. Commit a HCP system upgrade.

E. Modify network security settings.

Correct Answer: ABE

QUESTION 2

Which three tenant management console permissions does the security role have on a HCP? (Choose three.)
A. View namespace access protocol configurations.

B. View tenant log messages about security events.

C. View tenant overview.

D. Monitor replication.

E. Modify tenant management console security settings (HCP tenants only).

Correct Answer: BCE

QUESTION 3

In which two instances would the MEGARaid utility be used? (Choose two.)

A. when replacing multiple failed disks in a HCP 500 node

B. when replacing multiple failed disks in a HCP 300 node

C. when replacing an entire node in a HCP 300 in which the RAID group is not healthy
D. when replacing an entire node in a HCP 500 in which the RAID group is not healthy

Correct Answer: BC

QUESTION 4
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A 4-Node HCP with 40 users is being managed using the single administrator function. Two new

users, each from a different department, need to access data in two HCP tenants named: Financials Payable and
Financials Receivable. Which action should the administrator perform to make this happen?

A. Create two new user accounts with security permissions.

B. Create default accounts named Financials Payable and Financials Receivable for each user.
C. Create a data access account for each user.

D. Create two system administration accounts.

Correct Answer: C

QUESTION 5

What is a valid HCP configuration?

A. 2 node HCP 300 with RAID 5 (5+1) DPL2
B. 4 node HCP 300 with RAID 6 (5+2) DPL2
C. 4 node HCP 500 with RAID 5 (5+1) DPL2
D. 4 node HCP 300 with RAID 5 (5+1) DPL2

Correct Answer: D
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